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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in_zero mark in that question.

D ¢ B A Questions / =iy #7
: S J ol il
(a+1) (a-1) + (a-1) + (a+1) -':-'--"--525/'“?5’“ 2a +1
The square rootof @ — 2a + 1 is ----:
= RIS e ST | 2
6 4 J : A diagonal of a parallelogram q.b"f
divides it into --- congruent triangles :

V4 L ” &£ Two St 6/ 5B S | 3
No One Two Three parallel lines intersect at --- point /points :
b $asf i (St e Y, The : Bl /oS Ll LS | 4

Trisect at Bisect at o i diagonals of parallelogram --- each other :
right angle right angle Trisect Bisect o par
Z2 1 5
J-by—1 | 1-by-3 |2-by-3| 3-by-2 Rz o R N
3 2
2 1
Order of transpose of matrix|0 1| is:
N
W 3 2
x-2<0 x+2<0 orS Lt fx=0 g
is; : tion of the inequality ---
e Lelipsl s . ; SIS ANALL dr%..m-é,_,suf 1
Small Large g i & nt oi the bisector of an angle is ---
dittance Stk Equidistance | Un“SMdisaneg, | - =
e sz(3+42)(3-42) |8
1 -1 -7 7 !
(3++2)(3-+2) isequal to :
- 73S d/ 3 5 ‘Lt'nﬂ._-_.:f';jﬁ:»:j 9
cm None Degree Unit of ratio is ---- :
v 1l I 1 FABLGF(=3,-3)45 | 0
Point (-3, —3 ) lies in quadrant :
0 e 10 1 le byl L.._--(‘? K51 ’4u't,f|u/ 1
: The logarithm of unity to any base is --- :
4 3 2 1 :wl.ﬁg./é i 2
A ray has end points :
NG 2 1 0 t el (1,1) 11 €0,0)85 | 13
Distance between points (0, 0) and (1, 1) is ----:
' ¥ » 7 1 14
5+ 4i 5-4i w5 =4 ~5+4i et A5 4 4
The conjugate of 5 + 4i is----- :
b Yoo 2 Sis fosf B S bt LS 15 | 15
Acute Unequal Equal Perpendicular | In a parallelogram opposite angles are --- :
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(PART -1 J:L«ﬂ? )
12 2. Write short answers to any SIX (6) questions : ...,;L? AL iy (6){:.4,;:( 2

(i) Define column matrix. o J.Jb L)Jb’ 6))
(i1) Find the transpose of the matrix :  B=[5 1 -6] :z;-’r)-*ﬂ_)l;;,:’u(.,iu (D)
(iid) Simplify : ¥-125 2 A7 (i)
(iv) Write real and imaginary parts of the number : —1+2i .22 I Lsw (iv)

(v) Express in scientific notation : 83,000 ol 19~ (f S5 W)
(vi) Find the value of x logzx =4 log;x=4 £ érsl‘“‘:.u:{'d’x (vi)
x=—l,y=—9,zz4.§£ﬂh’é—gd’ x3yx;23~ (vin)

x3y-2z

P ¥4

(vii) Evaluate for x=-1,y=-9,z=4

(viii) Rationalize the denominator : 2 e b P f (viid)
7-245
(ix) Factorize : 24x? - 65x +21 ZESF (%)

12 3. Write short answers to any SIX (6) questions : o AR /‘? L =iy (6){:.(3:" 3
102xy22 % 85x2yz sl lS?'x_J/’z2 Zé":"’(‘ubk&)}‘?&u €))
() Find the H.C.F of the following expression 102xy°z , 85x?yz and 187xyz2

(i1) Solve the equation : J5x-7-Jx+10=0 c g S e (D)
(iii) Solve : |2x+3|=11 &S Gid

,é(}”.:.fd'c»lmpzé';ﬂ:w;ﬂ y=mx+c f2x—y=7 (iv)

(iv) Find the value of m and ¢ of 2x—y =7 by expressing it in the form of y=mx+c¢

(v) Define origin. e V)
(vi) Find the distance between the points : L Gk bbb ndbe (Vi)
A(-8,1),B(6,1 )
(vii) Define scalene triangle. = J/"JJ&WU"—‘H (vi1)
(vii1) State S.A.S. postulate. Ly S (viil)
(ix) Define parallelogram. -é_f_v /3 Jbu?ﬁld)l? (1x)
12 4. Write short answers to any SIX (6) questions : o ez 2 L oy (6){66/ 4
(1) Define the bisector of a line segment. -é’..é} 7 Saunl s (1)

_55 u‘:,me,gug;JJCubif.wJ( Scm <4em<3cm (D
(i1) 3cm,4cm, 5 cm are the length of the triangle. Give the reason.
(iii) Define congruent triangles. “.2-’_{..41/" SweJ = (i)

( 2&3;3 )



2

4. (iv) Find unknown value of x in given figure : : éf:l".;fg;x r,lvrg,r:ffd: Gv)-4
x f2em
fem

(v) What is converse of Pythagoras theorem? ?‘g,l,f..:'w:; tﬁf.l’/f (v)
(vi) Find area of given figure : b 3cm : 5(#,;;(LP’J’B, (vi)
6em . i "

(vi1) Define the triangular region. ..Z:...gl 7 g qub (vil)

(viii) What is meant by circumcentre? SestpVa T roppleds (viii)

m AB =42 cm , mBC =39c¢m , mCA=3.6cm (AU et: AABC (ix)
(ix) Constructa AABC inwhich : mAB =42cm , mBC =39cm , mCA =3.6
(PART -II (924 )

Note : Attempt THREE questions in all. <49 ﬁidlrdg.éayiﬁé:amrd‘f O
But question No.9 is Compulsory.

4 5. (@) Solve the system of linear S e aSutb LA i’u?l:L-‘G‘L‘: M) 5
equations by Cramer’s rule :
2x~-2y=4
I +2y=6
2¢ 2m 2n
s a a a e
- (b) Simplify : ( “’"J ( mm] [ n+€} ZE A (L)
_ a a a
4 6. (a) Use log table to find the value of : D Sl c.udU:g(g £ (D) 6
0.8176x13.64
4 -él(:h"..:u,:’.p(mz-i-n:' +p? I mn+nptmp=27 Mm+n+p=101 ( - )
(b) If m+n+p=10and mn+np+mp =27, then find the value of m® + n* + p?

7. (@) Factorize : 9x* +36y* L &G () T
W2 k=12 six? +x—(2k+2) UFe ik (x+4) LL2ES0 k(L)
(b)  For what value of k is (x+4)the HC.F of x?+x-(2k+2) and 2x% +kx—12 ?

8. (@) Solve : -554"23"%1 L ZS () 8
(b) Construct the A ABC , :go‘;'..iﬂv&ug,uéuié.l:: ABCelr (o)

also draw the bisectors of their angles :
mAB = 3.6¢cm ; mBC =42cm and mZB=75°
J:é_:fﬁdfﬂaspﬁywdsb';.uﬁ};Lg’f.&’ﬁ-{fdl(ufé_.uﬁéQ_J!}Lf(/ffémt‘ 9
9. Prove that any point inside an angle, equidistant frdm -z‘:_r‘nd“ Is gi?l
its arms, is on the bisector of it.
OR . k
unébuy:;éhﬁdrdﬂ?A:Jl»lb*ioﬁﬁ‘:?dﬁibmUldjl?glsgaﬁﬁ'gﬁ-gf&,{&t‘

Sussisktdm (Ungly LEIL M)
Prove that parallelograms on the same base and between the same parallel line
( or of the same altitude ) are equal in area.
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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.

D C B A Questions / = Uiy R
£ S ’s & B3l e s s | 1
Jan Nipper | Al-Khawrzmi Brguiz Arthur Cayley | The idea of matrices was given by ---:
is c_Lﬁle bl f 2
Ja? (Va)? (Va) wr | Fam  : cLdptd £ 4
usually written as
. ( 3
log, a log, b log, ¢ log, ¢ %Cj:{pw(”/ logy a2 log. b
log, axlog, b can be written as
o D 1] - ¢ — 4
2=2 <0 x+2<0 3x+5<0 x>0 _.:_J:(_{J'L----_I{L»/!x ?
x =0 is a solution of the inequality ---- :
5 T 2 5
: 171 -5
G+ 3) | e+ 6), (1) | (= 2(x=3) | (x+1),x-6) e it 8
The factors of x“ — 5x + 6 are :
LCM.xq(x) | LCM.x p(x)| __LCM. p(x)xq(x) :‘L,foﬁffybbfq(x) 2 px) L b
F The formula of H.C.F. of two polynomials
p(x) g(x) p(x)x g(x) LCM. b (%) and g (u) 39
> - ~ = e g
7 = The symbol of inequality is ---- :
5 4 b) 3 .c‘.'..l::cig:l‘-r“:” wu:’-’)--..fd):/ 8
Cartesion plan is divided into --- quadrants :
N3 2 i 0 : ‘L....._J-’ls'uk»& (1,1) 50,0 )6 9
Distance between points (0, 0) and (1, 1) is -=--- :
€ el A ray has . end points :
ey S g ol x_-__z_:u.ﬁvét,u.amdﬂr Il
Non- i pesifs angles are - :
Concurrent congruent i 3 4 g
- B F ., : S ...aﬂLKb;b-’CLv._fl 12
5 2 3 ~. 4 Ay il e [ S s
=P ‘b!SOCIOl;.O imgseguent if it divides the
angle info “=*equa) parts :
S sz —t =’ B eSS0 SUF s B
Congruent Equality Proportion Ratio Equality of two ratios is defined as --— :
di S8 it 4 Bt IS S 1 | 1
Empty No any . Different Same Congruent figures have ---- area :
. . 3 i . 7 e - 2| T s |% i 15
Ao | s | s | e | :‘?"Jl”‘:: _ u’;ﬁ‘f“fii ;f‘fn“t",‘”'{
Isosceles Equilateral | Right angled Scalene caliilez‘;%—-e- lavmg ks SRR
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12 2. Write short answers to any SIX (6) questions : @ o Y 4 /;g L =iy (6){;&/ 2
2 3
(i) Find the product : 11 ‘:i _0] } :ér:l” < S ()
0 -2

_"épl”‘,:"‘fgfbmawb’;li 2':23 4]+3[l b]=[7 lO:I /1’, (i)

-3 a 8 -4 18 1
- 2 4 1 b 7 10
() If 2[ }+3[ }:[ } then find the values of a and b

-3 a 8 -4 18 1

(iii) Give a rational number between i— and g— s PeLigend % 2l % stu (1ii)

(iv) Simplify : (x*)? + % (Y% A ()
(v) Express the number 0.0074 in scientific notation. @ o r‘f 7 u’: L50.0074:4 (v)
(vi) Calculate logs2xlog,81 -é(:l”:.-fg;logg, 2xlog,81 (v1)

2
y=9 sx=-4 GZEeedd 3%y +6 (vii)
S5(x+y)

3x? y+6

(vii) Evaluate if x=-4and y=9

5(x+y)
(viii) If x=4-+17 , find the value of — i L ju x=a-v17 S (vidd)
X X

(ix) Factorize : x(x=D)=-y(y-1) é’i:d} (ix)
12 3. Write short answers to any SIX (6) questions : L AT /‘“? L =iy (6){«-_61( 3
(1) Use factorization to find the square root of : oy r;l” EAlie$ g 2 (1)

12 1,32
16 127 367

(i1) Define a linear inequality in one variable. B2 T Y- OB ¢ 1))
(111) Solve the inequality : 3x+1<5x-4 : éd’f:.bl/ﬁ; (ii1)
(iv) Define co-ordinate axes. gy 7 §.¢ .:.!e:..iﬂf Giv)

e Chg2u—y+1=0 FU(2,3) BYISLEIHA W)
(v) Verify whether the point ( 2, 3 ) lies on the line 2x — y +1=0 or not. .
(vi) Define isosceles triangle. Sy Jlel AU (vi)

(vi1) Find the distance between the pair of points : :ér:l”J‘Eu“VJ:LL'ﬁZ’c,J (vii)

b, A(9,2),B(7,2 .
(viil) State H.S postulate. ( )+BY ) sty fos (viil)

(ix) LMNP is a parallelogram. D Eebnd Unosim -e-{weni LLMNP - (ix)

Find the value of “m “and “n” P - ——N
° 10
55
L ™

4 2&31) ) Bm-4m




@)

12 4. Write short answers to any SIX (6) questions : : g\:al,ii.’ /:? L Uiy (6){;(31( 4

(1) Define bisector of an angle. ATy it e sl; (1)
- oKt u,L;LJJC,ubIL.yidf 7cm s4cm<3cem (i)

(i1) 3cm,4cmand 7 cm are not the length of a triangle. Give the reason.

(ii1) Define proportion. LS (D)
(iv) State Pythagoras theorem. e e (v)
(V) Find unknown value of x in given figure : : éf}l”cﬁg;(x r:‘”t‘ptyfd: v)
oc I3 cwm
I evn
(vi) Find the area of given figure : by 3em ér#;xf&’d; (vi)
6Cm

(vii) State congruent area axiom. _ﬂéu,l;..ixl:%dy‘lb’u::.’.zj @ (vil)
mAB =48cm , mBC =3.7cm , m£B=60" :fU7%4k ABC &t (viii)

(vii1) Construct a triangle ABC in which: m AB =48cm,mBC=37cm, m £ B=60°
(ix) Define orthocentre of a triangle. BE S (AT pof Laks (%)
(PART -II (932> )

/

¢

Note : Attempt THREE questionsinall.  -e$9 AUrof-eepzlomrl f :0d

‘But question No.9 is Compulsory.

4 3x-4y=4 ,x+2y=8 éJL;AJJﬁéuﬁsfu?r,uﬁ% ) 5

5. (a) Solve the system of linear equations by using matrix inversion -
method : 3x—-4y=4 ,x+2y=8

a\at+b p\b*e AN
4 (b) Show that : (%J x[%} x[%} =1 SEew ()
x x x
4 6. (a) Use log table to find the value of : : :ép‘"":ﬁg;_u st.qﬂ{;f)’ (h) 6
0.678 x 9.01
0.0234
4 (b) If p=2++3 ,find p2+—12— -éf:j"c:..gurp2+i2 i p=2+\/§;! (o)
P p
4 e i Sk Ind 2k -l 1x-6 G2 (-0 ST (D) T
7. (@) If (x-1) isa factor of X~k +11x~6 , then find the value of &
4 (b) Find the square root of :  4x* +12x* +x* ~12x+4 & C e (L)
4 8. (a) Solve the equation : 5(x6+32ux=1__g_ N ) 8
4 (b) Construct the A ABC, EEE oLy Lyt ABCaE (&)

and draw the bisectors of its angles :
mAB = 4.2cm 5 mBC =6cm and mCA=52cm

8 B Bt L L sling St 9
9. Prove that the right bisectors of the sides of a triangle are concurrent.
OR L
Prove that . A a_)i'.}';JﬁICLI-?UUJI:"’dbf,@;lx_lx,ﬂldlsgwxﬁ'{i/_ f&lr_'f.t"

parallelograms on equal bases and having the same (or equal) altitude are equal in area.
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